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' B =i #s 66 29 95 (46 49 ) 315 BB rERS 63 18 81 (40 41 ) 310
260 R BE— 67 20 87 (44 43 ) 340 260 BB AT 65 18 83 (43 40 ) 340
3T HHEEE B— 68 18 86 (43 43 ) 340 36 I FH=E 66 17 83 (41 42 ) 325
4L fERAK FIE 69 18 87 (43 44 ) 340 A EE E 66 23 89 (44 45 ) 325
5L R FEN 69 30 99 (49 50 ) 340 bR T BE 67 21 88 (41 47 ) 305
66 MR HE 69 22 91 (48 43 ) 370 6hr A 1= 67 24 91 (45 46 ) 330
TR e fEAT 70 14 84 (43 41 ) 360 TR MR X 67 20 87 (43 44 ) 330
8L AR B 70 24 94 (48 46 ) 360 8  HE 67 20 87 (43 44 ) 330
Ofr 2 9= 72 23 95 (45 50 ) 335 OfT L 68 25 93 (44 49 ) 315
106 #BE F% 72 22 94 (45 49 ) 340 1062 7EI% BT 69 27 96 (46 50 ) 325
1z A B4 72 9 81 (39 42 ) 345 1 B3 B 69 19 88 (44 44 ) 345
12 B 1Es= 72 12 84 (42 42 ) 360 1260 7 Biig 69 16 85 (43 42 ) 350
136 BA & 72 8 80 ( 42 38 ) 380 130 5 1B 69 11 80 ( 42 38 ) 365
1461 BKIBT FH 73 5 78 (3 42 ) 335 1447  #%E = 69 17 86 (47 39 ) 385
1667 L8 %5 73 5 78 (40 38 ) 375 156z E=WBEF 70 15 85 (42 43 ) 345
16z FHII & 74 26 100 (49 51 ) 360 16z EK BE 70 30 100 ( 50 50 ) 350
1767 #E %k 74 15 89 (44 45 ) 365 176 #% 8F 70 13 83 (42 41 ) 355
1867 BB =& 74 6 80 ( 40 40 ) 370 1867 HEHM BE 70 25 95 (49 46 ) 365
1967 H Lt A 74 22 96 (51 45 ) 400 190 KE Hx 71 15 86 ( 39 47 ) 315
206 BEH BR= 75 13 88 (41 47 ) 345 2060 # HF 71 28 99 (46 53 ) 320
3001 Il BhfE 77 11 88 (43 45 ) 375 30fr Bk EE 72 18 90 (46 44 ) 370
406 KRB B 79 23 102 (48 54 ) 365 4067 BEA BALE 74 20 94 (48 46 ) 380
50f %4 B BA 81 17 98 (49 49 ) 405 5060 KR A 75 30 106 (57 48 ) 420
60fr  RE 42 86 30 116 (59 57 ) 440 606 R TT 78 27 106 ( 52 53 ) 385
7061 £ BT 81 30 111 (__5b 56 ) 400
BBE EBf ## 86 30 116 (62 54 ) 470 BBE W &% 88 29 117 (60 57 ) 455
BGE MK [ 76 ( 37 39 ) Par 72 J—XL—k  2O—FL—b

Bi(F) 6606 yard 71.3 128

BEi(A) 6,237  yard 69.5 123

BEi(4) 5892  yard 68.1 119

BEME(%) 5281  vyard 64.9 114

LM% 5281  yard 70.1 123

“ZMH(FR) 4878  yard 67.8 119




